A

W,

Semnan University
| Faculty of Mechanical Engineering

SwWlogdl J oS (w0
® AUTOMATIC CONTROL

O U 0 Ely el sla b9




N

! —

dﬁf?wfy

Automatic Control

Ao o o 0

JraS G pacs gl doaids
IS g Sealiss 6l piaes ialed 5 (g5ladae %0

S S sl i gyl %

- . . L/

S sl paa B8k ¢ 1,38 &l Judow %
5 3 gl Sl gl g, 40w

JAS slo s b 4

JyeS (w30 — S0 cwdio 0uSSlS 6




Automatic Control

US (Sl s gl )5 gusly

s (omilS )8 Fwly ol O
9 (g0 gws p2 030 Jlol (Glwgs S oS (6399 Jlio 43 el gewly (uilS D Julow >
D9 (o0 Ggl..{))l (Oarnn s, 9 S P M paiino o,b > (5399 ‘JL‘S“*‘" U"‘"ls)s -1 CJ‘-'-' 23
Fsw g (53909 8 )S p s L

x(1) W) ,
—— G(.‘f} f—— x(f) = X sinwt
Als) ¥(s)

G(jw) = |G(jo)

e wlp  G(jw) = Me® = M [

p(s) p(s) p(s)
G(s) = = wi Y(s) =G(s)X(s) = X (:
(s) q(s) (s + s)(s + 8) (s + s, () (5)X(s) q(s) ()
| . o wX . a a bl b? bn
Y(s) = G(s)X(s) = G(s) 2+ St jo " s — jw i s+ 5 " s+ s T s + s,

N

JE—

L= JrES (930 — Sl (owdigeo ouSislo




Automatic Control

S o s (oS )9 Funly

o " ols)é éﬂ)[:!. |“I . D
Oloj2je> 43 gl 0391 Caws 4
[rjX () :’,_1 b] b') bn

= — + — + — =T
2+ w 5t jw 5§ — Jw s + 5 s+ 5 s+ 5,

Y(s) = G(s)X(s) = G(s)

» y(f) = ﬂe—ﬁur 4+ agfwf -+ blﬂ'_-’s‘]f —+ bze—szf 4+ .- + b,ie—s,,r

- Y(1) = ae’*" + ae

o eX | XG(w)
a = G(s) 2 1 o (s + jw) . = — 7
wX XG(jw)
a = G| | —
=6 gz )| )

N

—

L= JrES (930 — Sl (owdigeo ouSislo




Automatic Control

J)S S e (ouiilS )9 Znly

uu.i'S).é 2)9=> ) (l)b) )lf)él.o c.wb O X8
gl +d) _ i(wr+d)

¥ = X|G(jm)|sin(mr + ¢)= Ysin(wt + &)
]

b V(1) = X|G(jo)|

Input x(r) = X sin wt

Output wf) = ¥ sin (awt + .
put w() (et + ¢b) D)I.)Jl " o ‘/

Y (jo)
X (jw)

amplitude ratio of the output sinuisoid to the
input sinusoid

G(jw)| = ‘

36 s
: Y(jo)  phase shift of the output sinusoid with respect
[Gljw) = X(jw)  to the input sinusoid

N

—

L= J S w90 — Sl (owidge 0aSiSId ‘




Automatic Control

ot guilS )3 gy Julows O
Jle
x K v K
Ts+1 G = 7
G(s)
K
G(jw)| =
K | \/ 7 2
Y = 1+ T-w
> Gljew) iTw + 1 -

¢ = /G(jw) = —tan'Tw

_ XK
V’] + T’w’

x(1) = Xsinwt =i Ys(1) sin(wr — tan™' Tw)

N

—

L= J S w90 — Sl (owidge 0aSiSId ‘




Automatic Control

N 1 . 1 Jto
§ + — jo + —
1 T, T(1+T
G(s) = : -  G(jo) = 1 _ 2( 1;m}
T1 jl' TE
T, \V1 + T2’
Gljo)| = =
* T]_ ]. + TI{[}

¢ = [G(jw) = tan' 1o — tan"' o

” 0 XT,V1 + T2’
x(t) = Xsinwt = V()=
V1 + T’

N

—

L= J S w90 — Sl (owidge 0aSiSId ‘

sin(wt + tan'Tyw — tan! o)




Phase [deg), Magnitude (dB)

Automatic Control

Caunni 9SO L 9 392 p1SLS

(Bode) 592 pl SL> O

Bode Diagram

:‘] | I | | T 17T 7T i | I I | I | 1

0 139 (o0 JuST isw 95 jl o pl SL>
-20 - 231351l oty ) o1 3L 5 205100l ol L v
-40 | o | it WIS)SW)JWﬂMJJM&:b

—60) | | | b1l | ] | | | | L1 (dB ‘J-f-.l:w) G?A.MA’).!) M

'] ] I ] | L .

280 eIt L L = 20 1DE|G(JW)|
i lS 3y S
—300) | i I | i | 1

10 10 10°

Frequency (rad/sec)

L= JrES (930 — Sl (owdigeo ouSislo




Automatic Control

Caunni 9SO L 9 392 p1SLS

(Bode) 59 pl ,SL> O
Joaws 4 01l Jyoas

w 20log|G(jw)|

Decibels (dB)

2 3456810

vl 4 Liiail

Ll
0.01 0.02 0.04 01 02 0406 1
Numbers

N

L= JrES (930 — Sl (owdigeo ouSislo




Automatic Control

Caunni 9SO L 9 392 p1SLS
(Bode) d9) 'o|)§L3.)

139 g0 el 0908 B3 Rlg5 L b Dygo 4 23 @U 1l g pSLS euwy sl

1. Gain K

2. Integral and derivative factors ( jm)q:l

3. First-order factors (1 + jwT)™

4. Quadratic factors [1 + 2¢(jo/w,) + (ffﬂ/mu)zrl

W p1 5L (log(a.b)=log(a)+1og(b) ) gez 4 ©ro o3 )3 e IS Cwols 4 4255 LV

dmw& JyeS (w30 — S0 cwdio 0uSSlS

Cawl G s> @215 p1)SLS Rex Juol> ol 4



Magnitude (dB)

Phase (dag)

Automatic Control

Caunni 9SO L 9 392 p1SLS

(Bode) 59 pl ,SL> O
(K) ol o pg2 0
Cawl o ol p1 5 1SS 9 ol 2 j1ail p1SL s o pge s i (Sl v

Bode Diagram Mo

K =20 20 g &

25

T K= 0.1 I. 10 1)

I | :' (1)

of - 4 K =4, 10, and 20

-05

]

Frequency (rad'sec) i i [¥] 1060 e

i b}

JyeS (w30 — S0 cwdio 0uSSlS




Automatic Control

Caunni 9SO L 9 392 p1SLS

(Bode) 59 pl ,SL> O
oo b J1S5! Jole

Integral and Derivative Factors (_jo)™'

dB A dB |

40 |- 40

{} ______
Slope = 20 dB/decade
-20 : == 20log [—| = —20logw dB
- 40 ' | | j®
@ 0.1 1 10 100
= 20 log|jw| = 20logw dB
¢'l|. if*n
0% = 180° -
a0~ 9[)°
| B0 | | | - 0° | | | . “”LD O' o LD \/
0.1 l 10 100 w 0.1 1 10 100 FIROF R
Bode diagram of Bode diagram of ZDIDE|UW}H| n X 20log|jw| = 20nlogw dB
G(jw) = 1/je Gljw) = jw

20 log = —n X 20log|jw| = —20n log w dB

1
(Jo)"

JyeS (w30 — S0 cwdio 0uSSlS @




10

Agsymptc:la Corner ﬁ:’equenc

: Exact-curveg
_IU ,..,.._._..E e

dB

A:sy mptt;rle

i
2
T

JyeS (w30 — S0 cwdio 0uSSlS

Lh'__
5|

o]

~
~N=

~|
~Nl=
~| B

Automatic Control

Caunni 9SO L 9 392 p1SLS

(Bode) d9) 'o|)§l..o.3 a
J9l 45 0 Jole
First-Order Factors (1 + jwT)*!

S0 O',_‘,‘ o
o1l ol S5 v

= —20log V1 + ’T*dB

201og

1+j(uT|

B el ,SLs v
¢ = —tan ' wT




Automatic Control

Camnss 95 9 390 oS LS

dB | _
(Bode) >4 el )SL> O
40
Exact curve Jol 45 o Jole
21 i ______ ! \ First-Order Factors (1 + jwT)*!
1 Asymptote
20 |- Asymptote i E Cado Olgs
| ! 213l pl,SLs v
—40 | : ! - .
oot ol L 10 e 20log|1 + jwT| = —20 log|——
T T T T 1 + joT
b4
6 ol ,SLs v
gﬂ_D ) P)S”)
1
45° 1+ joT =tan'oT = — | ————
. [+ joT “ / 1 + joT
0° : | -
001 01 1 10w
A v
R

L= J 558 w90 — SlSo  cwidgo 005D @




Automatic Control

1T T T 11 CannsS 9 9 392 p1 5L >

(Bode) 592 pl SL> O

P93 4 po Jole
Quadratic Factors [1 + 2{(jo/w,) + (jo/w,)*]™

dB

10 =i __hs}-'mpttcs O SN S ‘ , ,,

o1l pl S v/

0> \2 > \2
= —ZOIOgJ(l — ;) + (2;’ m—n)

201log

1
!m !w 2
1+ 2¢f jw— + _}w—

0.1 02 04 0608 2 4 6 810 14 2((,?3) n (jﬂ) 1— (2)
o (1Y
el

JE—

L= JrES (930 — Sl (owdigeo ouSislo




G(jw)

10(jw + 3)

i G(jo)

(jo)(jo + 2)|(ju) + jo + 2]

- 75  (jo), 1-+;§, (1+;§)_, {

dB

401

20

=40

I | LI L I[ I | I | L
Exact curve .
AN
B Gilfew) 3, ==
— A\ -
- - —
— = e —y— = i -
TR RS
- 4
N .
L1 1 11l ] [ T B
0.4 06081 2 4 6 8 10

0.2

JyeS (w30 — S0 cwdio 0uSSlS

Automatic Control

Caunni 9SO L 9 392 p1SLS

» (Bode) S99 fbflg) a
75(%—+1)

Jlo
o [0 T

o (jo) ]!

1"‘15"‘ 5 i o=3w=2ande=V2
a0= T T T T 11T @; T T T T 17171
uu/@

¢ _90°

-180°

=-270° Lol
0.2 04 06081




Automatic Control

Caunni 9SO L 9 392 p1SLS

(Bode) 59 pl ,SL> O

db’:‘o o

Bode Diagram of G(s) = 25/(s* + 45 + 25)

20 ! T T T 1T

25

s° + 4s + 25

........................................

G(s) = 0 ............. ...... ..............................

! o rrTd

. _2{:. .................................................................................................................
m
=2
MATLAEB P‘rugram 7=1 _au P, " | T NSPEPIRVIUER SN SRR SEPWER SR VU SOV NS S NEPTEERIE SR S
=
num = [25]: E
den=[1 4 25]; 3 —60
bode(num,den) =0
title('Bode Diagram of Gis) = 25/(s"2 + 4s + 25)') ..;.,%D
2 =50
=
(=™
=100
=150
200 | il i Llid

10° 10’
Frequency (rad/sec)

JyeS (w30 — S0 cwdio 0uSSlS




O(s” + 0.25 + 1)

s(s¥+ 1.25 + 9)

G(s)

9{52 + 02s + '1:]

J.‘(:-;2 + 1.2s + 9]

MATLAB Program 7-2

num =[9 1.8 9];
den=[1 1.2 9 0];
bode(num,den)

title('Bode Diagram of Gis) = 9(s*2 + 0.2s + 1)/[s(s*2 + 1.25 + 9)]")
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MATLAB Program 7-3

Phase (deg); Magnitude (dB)

num=[9 1.8 9];
den=1[1 1.2 9 0];

w = logspace(-2,3,100);
bode(num, den,w)

titlel'Bode Diagram of Gis) = 952 + 0.25 + 1)/[s(s"2 + 1.25 + 9)]")

50

Bode Diagram of G(s) = 9(s*> + 0.2s + 1)/[s(s> + 1.25 + 9)]

Automatic Control

Caunni 9SO L 9 392 p1SLS

(Bode) 59 pl ,SL> O
db’:‘o o

TTTTIT

il

T T TTTI]

T T T

R ol

SRR S

poeapeil i

TTTTIT

LLbii

-50
100 i FIHHI I !lll!!l | RO | llllll l ' l!l!l!l l l!!!ll
50 - Lidil
0+ -
-50 |-
~100 mmEnn I S Y o w1 s o w1
1072 107! 10° 10! 10° 10°

Frequency (rad/sec)

JyeS (w30 — S0 cwdio 0uSSlS




Automatic Control

Caunni 9SO L 9 392 p1SLS

(Bode) 59 pl ,SL> O

db’:‘o 0:0
i | 0 1| x L]0
% 25 —4 || x 25 1% 4 e

MATLAB Program 7-4

A=[0 1;-25 -4];
B = [0;25];
C=[1 0];

D = [0];
bode(A,B,C,D) ~100
title('Bode Diagram')
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G(s) =

MATLAB Program 7-5

num = [1];

den=[1 0.8 1];

nyquist(num,den)

grid

title('"Nyquist Plot of G(s) = 1/(s"2 + 0.8s + 1))
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Nyquist Plot of G(s) = 1/(s*+ 0.8s + 1)

Imaginary Axis

Real Axis
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s+ 085 + 1

G(s) =

MATLAB Program 7-6

% ---------- Nyquist plot ----------

num = [1];

den=[1 0.8 1];

nyquist(num,den)

v=[-2 2 -2 2]; axis(v)

grid

title('"Nyquist Plot of G(s) = 1/(s"2 + 0.8s + 1))

Imaginary Axis
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Nyquist Plot of G(s) = (s +0.8s+ 1)
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Nyquist Plot of Gis) = 1/[s(s+1)]
5 L] I 1 1 I 1 ]
MATLAB Program 7-8 T S PO SO U TUUONS ASOTUUSPOTS SO PRI TSPt STTSPN i
% Nyquist plot——— T O S PO SO PR O P TR RPUTOO-STPSP i
num = [1], 2r . : : 1
den=1[1 1 0]; I 1S SO ST S PNt T

w =0.1:0.1:100;

[re,im,w] = nyquist(hnum,den,w);
plot(re,im)

v=[2 2 -5 5];axis(v)

grid

title('Nyquist Plot of G(s) = 1/[s(s + 1)]")
xlabel('Real Axis')

ylabel('lmag Axis')

Imag Axis

-2 -1.5 -1 0.5 0 0.5 1 1.5 2
Real Axis
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MATLAB Program 7-9 2
<

A=[0 1;-25 -4]; *éﬂ

B = [0;25]; =

C=1[1 0];

D = [0];

nyquist(A,B,C,D)

grid

title("Nyquist Plot')
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MATLAB Program 7-11

num = [20 20];

den =conv([1T 5 0],[1 2 10]);
sys = tf(num,den);

w = logspace(-1,2,100);
bode(sys,w)

[Gm,pm,wcp,wcg| = margin(sys);
GmdB = 20*log10(CGm);

[GmdB pm wcp wcg]

dans =

9.9293 103.6573 4.0131 0.4426

50 T T T TTTT] T T T TTTT]

Lirailk I P

Phase (deg); Magnitude (dB)

............................................

107! 0.4426 10" 4.0131
Frequency (rad/sec)
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